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There was a high standard of learning for women also. In house, they might learn music and dancing. They
had to undergo the Upanayana ceremony.

There were two types of educated women.
1. Sadvodwahas : They are people who pursued studies till their marriages.

2. Brahmavadinis : They are people who did not marry and pursued studies throughout their lives. Women
used to learn vedas and vedangas. Their involvement was more in reciting hymns other ritualistic operations.
Women sages were called Rishikas. The scholarly women could be named as Maitreyi and Gargi.

This phase marks another transition from the spirit of Brahmanas to the spirit of the Upanishads, While the
Brahmanas are called Karma Kanda (Karma 1s another word for yajna) because of total known as Jnana
kanda because here knowledge becomes primary. Smee the shift involved total change m attitude, 1t needed a
link. This phase is called Aranyanka because it became relevant when men retired to forests due to old age.
Why should old people retire to forests? Surely. this 1s a provoking. If old people retired to forest. then it must
be due to strong affimity to the place of origin. which prompted them to choose so.

Hence, proper study of philosophy begins only from the Upanishads. In this connection, one question remains
to be answered. The Aranyakas Constitute a phase in the life an individual.

Subjects in Vedic Education :

It might take twelve years for a student to develop expertise in one Veda and thereafter, it would be twelve
years. thirty six years and so on. A graduate was called Snataka and the graduation ceremony was called
Samavartana.

Let's have a look at some other subjects.

1. Ttihas- History

| )

. Anviksiki ( logic)

[ 5]

. Mimamsa (Interpretation)

oY

. Shilpashastra (architecture)
5. Arthashastra (polity)

Sub questions

Question Number : 1 Question Id : 68634020050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Samavartana means :

1. Process of not marring and retiring to jungle

3%

. Ceremony associated with the snataka.
3. perusing study till marring

4. Process where knowledge is primary

Options :



68634079201. 1
68634079202. 2
68634079203. 3
68634079204. 4

Question Number : 2 Question Id : 68634020051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which as/ are not the synonyms of affinity

A Harmony
B. Rapport

C. sympathy
D. Aversion

1. B Only

| ]

.B and D Only
3.Cand D

4. D Only

Options :

68634079205. 1
68634079206. 2
68634079207. 3
68634079208. 4

Question Number : 3 Question Id : 68634020052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of months required to expertise in all vedas for a student 1s :
1. 576
2.732

144

[F¥]

4. 288

Options :

686340792009. 1
68634079210. 2
68634079211. 3
68634079212. 4

Question Number : 4 Question Id : 68634020053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which was not a part of Vedic education as per the list given?

1. Renunciation

[ ]

. Commerce and trade
3. Recreational archives

4. Yogasadhana

Options :

68634079213. 1
68634079214. 2
68634079215. 3
68634079216. 4

Question Number : 5 Question Id : 68634020054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Al'ﬂllﬂll}rﬂkﬂ means .

1. Rishikas

[ ]

. Brahmanas

Lad

. The phase Depicting transition from spirit of Brahmanas to the spirit of the Upanishads

4. An old man going to the forests

Options :

68634079217. 1
68634079218. 2
68634079219. 3
68634079220. 4

Question Id : 68634020049 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



There was a high standard of learning for women also. In house, they might learn music and dancing. They
had to undergo the Upanayana ceremony.

There were two types of educated women.
1. Sadvodwahas : They are people who pursued studies till their marriages.

2. Brahmavadinis : They are people who did not marry and pursued studies throughout their lives. Women
used to learn vedas and vedangas. Their involvement was more in reciting hymns other ritualistic operations.
Women sages were called Rishikas. The scholarly women could be named as Maitreyi and Gargi.

This phase marks another transition from the spirit of Brahmanas to the spirit of the Upanishads, While the
Brahmanas are called Karma Kanda (Karma 1s another word for yajna) because of total known as Jnana
kanda because here knowledge becomes primary. Smee the shift involved total change m attitude, 1t needed a
link. This phase is called Aranyanka because it became relevant when men retired to forests due to old age.
Why should old people retire to forests? Surely. this 1s a provoking. If old people retired to forest. then it must
be due to strong affimity to the place of origin. which prompted them to choose so.

Hence, proper study of philosophy begins only from the Upanishads. In this connection, one question remains
to be answered. The Aranyakas Constitute a phase in the life an individual.

Subjects in Vedic Education :

It might take twelve years for a student to develop expertise in one Veda and thereafter, it would be twelve
years. thirty six years and so on. A graduate was called Snataka and the graduation ceremony was called
Samavartana.

Let's have a look at some other subjects.

1. Ttihas- History

| )

. Anviksiki ( logic)

[ 5]

. Mimamsa (Interpretation)

oY

. Shilpashastra (architecture)
5. Arthashastra (polity)

Sub questions

Question Number : 1 Question Id : 68634020050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Samavartana means :

1. Process of not marring and retiring to jungle

3%

. Ceremony associated with the snataka.
3. perusing study till marring

4. Process where knowledge is primary

Options :



68634079201. 1
68634079202. 2
68634079203. 3
68634079204. 4

Question Number : 2 Question Id : 68634020051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which as/ are not the synonyms of affinity

A Harmony
B. Rapport

C. sympathy
D. Aversion

1. B Only

| ]

.B and D Only
3.Cand D

4. D Only

Options :

68634079205. 1
68634079206. 2
68634079207. 3
68634079208. 4

Question Number : 3 Question Id : 68634020052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of months required to expertise in all vedas for a student 1s :
1. 576
2.732

144

[F¥]

4. 288

Options :

68634079209. 1
68634079210. 2
68634079211. 3
68634079212. 4

Question Number : 4 Question Id : 68634020053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which was not a part of Vedic education as per the list given?

1. Renunciation

[ ]

. Commerce and trade
3. Recreational archives

4. Yogasadhana

Options :

68634079213. 1
68634079214. 2
68634079215. 3
68634079216. 4

Question Number : 5 Question Id : 68634020054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Al'ﬂllﬂll}rﬂkﬂ means .

1. Rishikas

[ ]

. Brahmanas

. The phase Depicting transition from spirit of Brahmanas to the spirit of the Upanishads

Lad

4. An old man going to the forests

Options :

68634079217. 1
68634079218. 2
68634079219. 3
68634079220. 4

Sub-Section Number : 2
Sub-Section Id : 686340660
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634020055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions given form the following options :

Lord Buddha realised the need .................... educating devotees................. a massive scale. Budhhist education
started 2.600 years ago. It was collective ................. the sence that it was not based............. cast system

1. Of on. from. with

]

. with. on. in. of
3. of. on. m. on

4. of. in for. on

Options :

68634079221. 1
68634079222. 2
68634079223. 3
68634079224. 4

Question Number : 6 Question Id : 68634020055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions given form the following options :

Lord Buddha realised the need .................... educating devotees................. a massive scale. Budhhist education
started 2.600 years ago. It was collective ................. the sence that it was not based............. cast system

1. Of on. from. with
2. with. on. . of
3. of. on. m. on

4. of. in for. on

Options :

68634079221. 1
68634079222. 2
68634079223. 3
68634079224. 4

Question Number : 7 Question Id : 68634020056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Replace the underlined expression with on idiom.
My uncle is very short tempered. So Whenever he visits us all of us at home are being extra careful.

1. At sea

|

. Dribs and drabs
3. Walking on egg shells

4. Walking the plan

Options :

68634079225. 1
68634079226. 2
68634079227. 3
68634079228. 4

Question Number : 7 Question Id : 68634020056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Replace the underlined expression with on idiom.
My uncle 1s very short tempered. So Whenever he visits us all of us at home are being extra caretul,

1. At sea

[ ]

. Dribs and drabs
3. Walking on egg shells

4. Walking the plan

Options :

68634079225. 1
68634079226. 2
68634079227. 3
68634079228. 4

Question Number : 8 Question Id : 68634020057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the sentence with the correct subject verb Agreement

1. Annotated Readings 1s necessary for on msight ful understanding for the text and helps students better internalize
the material.

b2

. Annotated Readings are necessary for an msightful understanding of the text and help students better
internalize the material.

3. Annotated Readings are necessary for an msightful understanding of the text and helps students better
Internalize the material.

4. Annotated Readings n necessary for an insightful understanding of the text and help students
betters Internalize the material

Options :

68634079229. 1
68634079230. 2
68634079231. 3
68634079232. 4

Question Number : 8 Question Id : 68634020057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the sentence with the correct subject verb agreement

1. Annotated Readings 1s necessary for on insight ful understanding for the text and helps students better internalize
the material.

[ )

. Annotated Readings are necessary for an insightful understanding of the text and help students better
internalize the material.

3. Annotated Readings are necessary for an msightful understanding of the text and helps students better
internalize the material.

4. Annotated Readings in necessary for an insightful understanding of the text and help students
betters Internalize the material

Options :

68634079229. 1
68634079230. 2
68634079231. 3
68634079232. 4

Question Number : 9 Question Id : 68634020058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The prominently visible parts on the front size of an object as : ..............

1. Starling

[ ]

. sumplex
3. salience

4. Rosaline

Options :

68634079233. 1
68634079234. 2
68634079235. 3
68634079236. 4

Question Number : 9 Question Id : 68634020058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The prominently visible parts on the front size of an objectas @ ..............
1. Starling
2. simplex
3. salience

4, Rosaline

Options :

68634079233. 1
68634079234. 2
68634079235. 3
68634079236. 4

Question Number : 10 Question Id : 68634020059 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the Coreect spelling of the word from the options given below:

1. Reverberation

(]

. Riverberation
3. Revirberation

4. Revarberation

Options :

68634079237. 1
68634079238. 2
68634079239. 3



68634079240. 4

Question Number : 10 Question Id : 68634020059 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the Coreect spelling of the word from the options given below:

1. Reverberation

| B

. Riverberation
3. Revirberation

4, Revarberation

Options :

68634079237. 1
68634079238. 2
68634079239. 3
68634079240. 4

Question Number : 11 Question Id : 68634020060 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The next member of the given series 1s :

8,18,23.50, 72, i

1.120

| ]

.90
3,92

4.98

Options :

68634079241. 1
68634079242. 2
68634079243. 3
68634079244. 4

Question Number : 11 Question Id : 68634020060 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The next member of the given series 1s :

8,18,23,50, 72, e

1. 120

|

.90
3.92

4. 98

Options :

68634079241. 1
68634079242. 2
68634079243. 3
68634079244. 4

Question Number : 12 Question Id : 68634020061 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A faulty minute hand covers only 90% of the circle per hour. If it starts from eight in how many minutes it will
reach the seven mark at the given speed :

1.53
2.58

.61

T

4.064

Options :

68634079245. 1
68634079246. 2
68634079247. 3
68634079248. 4

Question Number : 12 Question Id : 68634020061 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A faulty minute hand covers only 90% of the circle per hour. If it starts from eight in how many minutes it will
reach the seven mark at the given speed :

1..53

[ ]

. 58

.61

[F¥]

4. 64



Options :

68634079245. 1
68634079246. 2
68634079247. 3
68634079248. 4

Question Number : 13 Question Id : 68634020062 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The age of father in 1980 was twice that of lus son's present age. If the present age of son 13 X year and age of
tather 1s 79 years than value of X 15 :

1. 15 Year
2.17 Year

.23 Year

T

4. 18 Year

Options :

68634079249. 1
68634079250. 2
68634079251. 3
68634079252. 4

Question Number : 13 Question Id : 68634020062 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The age of father in 1980 was twice that of his son's present age. If the present age of son 15 X year and age of
tather 15 79 years than value of X 1s :

1. 15 Year
2. 17 Year

. 23 Year

L]

4, 18 Year

Options :

68634079249. 1
68634079250. 2
68634079251. 3
68634079252. 4

Question Number : 14 Question Id : 68634020063 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The product of 25% of x and 120% of y = .....cceeeeveeeeeee. %o of ()
1.30

2.25

4. 60

Options :

68634079253. 1
68634079254. 2
68634079255. 3
68634079256. 4

Question Number : 14 Question Id : 68634020063 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The product of 23% of x and 120% of y = ..o Yo of ()
1.30

2:25

4. 60

Options :

68634079253. 1
68634079254. 2
68634079255. 3
68634079256. 4

Question Number : 15 Question Id : 68634020064 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average speed of a train in four hours, running at 36 km/h in first hour, 72 km per hour in second hour and
108 km'h m the last two hours 1n (m/s) 1s :

1. 15

[ ]
s
Lh

Lrs]
e
n
[

Options :
68634079257. 1
68634079258. 2



68634079259. 3
68634079260. 4

Question Number : 15 Question Id : 68634020064 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average speed of a train in four hours, running at 36 km/h in first hour, 72 km per hour n second hour and
108 km/h in the last two hours 1n (m/s) 1s :

1. 15

]
s
Lh

[P
e
n
| )

4.30

Options :

68634079257.
68634079258.
68634079259.
68634079260.

AW N~

Question Number : 16 Question Id : 68634020065 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given series : 85, 43, 44, 67.5. 137, 345 observe the series given and by establishing the same relation in 125,
(A). (B). (C). (D). (E). Find what will come 1s place of (C) ?

1. 86

b

1075

-112.5

Lo

4.97.5

Options :

68634079261. 1
68634079262. 2
68634079263. 3
68634079264. 4

Question Number : 16 Question Id : 68634020065 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given series : 85, 43, 44, 67.5. 137, 345 observe the series given and by establishing the same relation in 125,
(A). (B). (C). (D). (E). Find what will come 1s place of (C) ?

1.86

2

1.5

L]
—
—
[
LN

4.97.5

Options :

68634079261. 1
68634079262. 2
68634079263. 3
68634079264. 4

Question Number : 17 Question Id : 68634020066 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vartika went 90 meters in the east before turning to her right. She went 20 meters before turring to her right
again. She walked 30 metres further and then turring to north she walked 100 metres. How far is vartika from.
Her starting point?

1. 80 metres

| ]

. 100 metres
3. 140 metres

4, 260 metres

Options :

68634079265. 1
68634079266. 2
68634079267. 3
68634079268. 4

Question Number : 17 Question Id : 68634020066 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Vartika went 90 meters in the east before turning to her right. She went 20 meters before turring to her right
again. She walked 30 metres further and then turring to north she walked 100 metres. How far is vartika from.
Her starting point?

1. 80 metres

[ )

. 100 metres
3. 140 metres

4, 260 metres

Options :

68634079265. 1
68634079266. 2
68634079267. 3
68634079268. 4

Question Number : 18 Question Id : 68634020067 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indentify the water-image of the word "bridge"

Lp1Igge
pLIgge

p1iqge
+PIIPRG

Options :

68634079269. 1
68634079270. 2
68634079271. 3
68634079272. 4

[ )

Lad

Question Number : 18 Question Id : 68634020067 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Indentify the water-image of the word "bridge"

LpIIgge
pLIqgec

p1iggse
«PIIPRS

Options :

68634079269. 1
68634079270. 2
68634079271. 3
68634079272. 4

[ )

(%]

Question Number : 19 Question Id : 68634020068 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There 15 a certain relation between two given words on one side of : : and one word 1s given on another side of
: : while another word is to be found from the given alternatives. Choose the correct pair bear.

Roster : Duty : : Inventory : 7
1. Furnace
2. Export's

. Goods

L]

4, Produce

Options :

68634079273. 1
68634079274. 2
68634079275. 3
68634079276. 4

Question Number : 19 Question Id : 68634020068 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



There 1s a certain relation between two given words on one side of : : and one word 1s given on another side of
: : while another word 1is to be found from the given alternatives. Choose the correct pair bear.

Roster : Duty : : Inventory : 7

1. Furnace

]

. Export's
3. Goods

4. Produce

Options :

68634079273. 1
68634079274. 2
68634079275. 3
68634079276. 4

Question Number : 20 Question Id : 68634020069 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Introducing a boy. a gurl said, " He 18 the son of the daughter of the father of my uncle". How 1s the boy related
to the girl?

1. Cousin

b2

. Nephew

. Unecle

T

4. Son-in-law

Options :

68634079277. 1
68634079278. 2
68634079279. 3
68634079280. 4

Question Number : 20 Question Id : 68634020069 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Introducing a boy. a girl said, " He 1s the son of the daughter of the father of my uncle". How 1s the boy related
to the girl?

1. Cousin

b2

. Nephew

. Uncle

faa

4, Son-in-law

Options :

68634079277. 1
68634079278. 2
68634079279. 3
68634079280. 4

Question Number : 21 Question Id : 68634020070 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who 1s world's  first female amputee is climb Mount Everest?
1. Junko Tabei
2. Arunima Sinha
3. Malavati Puna
4. Erika Weithehmayes

Options :

68634079281. 1
68634079282. 2
68634079283. 3
68634079284. 4

Question Number : 21 Question Id : 68634020070 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who 18 world's first female amputee is climb Mount Everest?
1. Junko Tabei
2. Arunima Sinha
3. Malavati Puna
4. Erika Weihehmayes
Options :

68634079281. 1
68634079282. 2



68634079283. 3
68634079284. 4

Question Number : 22 Question Id : 68634020071 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement I: Sahitya Academi Award 1s the second highest Indian Litracy Award. It is given in 22 languages.

Statement I1: B K. Narayan wat the first recipient of Salutya Acadenu Award. He got 1t for lus book Malgud:
Days.

In the light of the above statements. choose the correct answer from the options given below

1. Both statement I and Statement IT are true

[ ]

. Bothe statement I and Statement I are false
3. Statement I is true but statement II 1s false

4. Statement I 1s False but statement 1T 1s true

Options :

68634079285. 1
68634079286. 2
68634079287. 3
68634079288. 4

Question Number : 22 Question Id : 68634020071 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement I: Sahitya Academi Award 1s the second highest Indian Litracy Award. It 1s given in 22 languages.

Statement II: F.K. Narayan wat the first recipient of Sahitya Acadenu Award. He got it for his book Malgudi
Days.

In the light of the above statements. choose the correct answer from the options given below
1. Both statement I and Statement IT are true
2. Bothe statement I and Statement IT are false
3. Statement I is true but statement II 1s false

4. Statement I 1s False but statement IT 1s true

Options :

68634079285. 1
68634079286. 2
68634079287. 3
68634079288. 4

Question Number : 23 Question Id : 68634020072 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LIST I (Books) LIST IT (Writers)
A PMMudrarakshasa I | Panini
B |Abhigvan Shakuntalam | 1. [Visakadatta
C. |Pancha Tantra 1. [Kalidasa
D. |Ashtadhvayi IV [Vishnu Sharma

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

{ )

CA-IL B-IILL C-IV, D-I
3. A-IV, B-III. C-II.. D-1I

4. A-ITT. B-1. C-IV, D-II

Options :

68634079289. 1
68634079290. 2
68634079291. 3
68634079292. 4

Question Number : 23 Question Id : 68634020072 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LIST I (Books) LIST IT (Writers)
A PMudrarakshasa I. |Panini
B. |Abhigvan Shakuntalam | II. [Visakadatia
C. |Pancha Tantra 1. [Kalidasa
D |Ashtadhvayi IV [Vishnu Sharma

Choose the correct answer from the options given below:

1. A-I, B-II. C-I1I, D-IV

| ]

CA-ITL B-ITT. C-TV, D-I
3. ATV, B-III, C-IT, D-1I

4. A-III B-I. C-IV, D-II

Options :

68634079289. 1
68634079290. 2
68634079291. 3
68634079292. 4



Question Number : 24 Question Id : 68634020073 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : A black hole 18 remnant of a massive star which has collapsed. It 13 a Volume of space where
gravitly 1s so strong that nothing not even light can escape fun it.

Statement IT : Its presence was first announced by galileo Galili m 1783
In the light of the above statements, choose the correct answer from the option given below

1. Both Statement I and Statement IT are true

[ ]

. Both Statement I and Statement IT are false
3. Statement I is false but statement IT 1s false

4. Statement I 1s false but Statement II 1s true

Options :

68634079293. 1
68634079294. 2
68634079295. 3
68634079296. 4

Question Number : 24 Question Id : 68634020073 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : A black hole 18 remnant of a massive star which has collapsed. It 13 a Volume of space where
gravitiy 18 so strong that nothing not even light can escape fun it.

Statement IT : Its presence was first announced by galileo Galili m 1783
In the light of the above statements. choose the correct answer from the option given below

1. Both Statement I and Statement IT are true

[ )

. Both Statement I and Statement IT are false
3. Statement I is false but statement IT 1s false

4. Statement I 1s false but Statement 11 1s true

Options :

68634079293. 1
68634079294. 2
68634079295. 3
68634079296. 4



Question Number : 25 Question Id : 68634020074 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rowlatt Act (1919) was passed through the Imperial Legislative Couneil to :
1. Increase taxes and custom duties on civilians
2. Force villages to supply solders and there was forced recrmitment of common people

3. Gave Government enormous power is to repress political activates and allowed detention of anybody
suspected

4. Arrest workers who joined hands against racism

Options :

68634079297. 1
68634079298. 2
68634079299. 3
68634079300. 4

Question Number : 25 Question Id : 68634020074 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rowlatt Act (1919) was passed through the Impernal Legislative Couneil to :

1. Increase taxes and custom duties on civilians

[ ]

. Force villages to supply solders and there was forced recruitment of common people

3. Gave Government enormous power is to repress political activates and allowed detention of anybody
suspected

4. Arrest workers who joined hands against racism

Options :

68634079297. 1
68634079298. 2
68634079299. 3
68634079300. 4

Part B: Forensic Science

Section Id : 686340398
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear Response Yes



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 686340661
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634020075 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fax machine printa heads known as TTI at the top of each fax page. Here T.T.I stands for.
1. Transnutting Terminal Indentations

2. Transmitting Thermal Identifier

(%]

. Transmitting Terminal Identifier

4, Transmitting Terminal Information

Options :

68634079301. 1
68634079302. 2
68634079303. 3
68634079304. 4

Question Number : 26 Question Id : 68634020075 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
thag A2 g ol Uol & SR Ud gox fiic $dl & ol T.TI $8d &1 Tl T.T.I T Y &-
4, THET ofHAa sABERH
Options :
68634079301. 1
68634079302. 2

68634079303. 3
68634079304. 4

[a—

-

L]

Question Number : 27 Question Id : 68634020076 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Death of a person caused due to mugging, garroting, etc. are example of

1. Hangimg

[ ]

. Strangulation
3. Suffocation
4. Drowning

Options :

68634079305. 1
68634079306. 2
68634079307. 3
68634079308. 4

Question Number : 27 Question Id : 68634020076 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl die syl ga 9 g3 5 9 1 9 s 338 g2
1. I @
. Ay

-2

T

GH YA
4. g

Options :

68634079305. 1
68634079306. 2
68634079307. 3
68634079308. 4

Question Number : 28 Question Id : 68634020077 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The experts witness/Evidence 1s mainly corrected under.

1. Section 32 of LE.A. and Section 291 g Cr Pc

[ ]

. Section 135 of LE.A. and Section 293 of Cr Pc
3. Section 45 of LE.A. and Section 293 of Cr Pe

4. Section 45 of LE.A. and Section 291 of Cr Pe

Options :
68634079309. 1
68634079310. 2



68634079311. 3
68634079312. 4

Question Number : 28 Question Id : 68634020077 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fa<os ey Sty wiefl i yRT & Sfciid 3 82
1. IEA @1 YIRT &% 32 TYT Cr Pe B YRTHER 291 ¢

CIEA @1 YRT 135 dYUT Cr Pe @ YR A6 203

-2

3. IEA &1 YRT 56X 45 YT Cr Pe B YR @3 203

4. TEA & YRIAa¥ 45 TYUT Cr Pe P YR F& 201

Options :

68634079309. 1
68634079310. 2
68634079311. 3
68634079312. 4

Question Number : 29 Question Id : 68634020078 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one is true in context of police mnvestigation

1. The witness can neither be compelled to give answers in writing now sign those recorded statement by
the police.

[ )

. The witness when called by the police has to appear before the police officer at the police station
irrespective of its gender and age.

3. The police can not write down the answer orally given by the witness.

4. A confession made to a police officer 1s admissible to the trial.

Options :

68634079313. 1
68634079314. 2
68634079315. 3
68634079316. 4

Question Number : 29 Question Id : 68634020078 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634079313. 1
68634079314. 2
68634079315. 3
68634079316. 4

Question Number : 30 Question Id : 68634020079 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is correct in context of Frisking'
1. It 1s legal process, meant for collection of evidence against the offender
2. It 18 the power of the Police to ask questions in relation to the case
3. Tt refers to the searching of clothing's of the suspect as measure of safety while enforcing law against him

4. This 1s an instrumental method of observing brain signal of a suspect in examination

Options :

68634079317. 1
68634079318. 2
68634079319. 3
68634079320. 4

Question Number : 30 Question Id : 68634020079 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g & 9 S11-91 99000 Sig gsara & ey § w8
T8 JuiRA ¥ qd U B B U DI Aiehar g
. T% H Halid gard UE- & forw gfery o famn man sifieR B
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Options :

68634079317. 1
68634079318. 2
68634079319. 3
68634079320. 4

Question Number : 31 Question Id : 68634020080 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following 1s most commonly used as an antidote m case of methanol poisoning

1. Fomepizole

[ ]

. Naloxone
3. Naltrexone

4, Nicotine

Options :

68634079321. 1
68634079322. 2
68634079323. 3
68634079324. 4

Question Number : 31 Question Id : 68634020080 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

79 T 9 & 9 [deeq HyHId [quredd & [9vg 3 9ad Suged UidoR® 2
1. BifAfOGd

AT

ATACFE A

4.

4. fFAepifeq

Options :

68634079321. 1
68634079322. 2
68634079323. 3
68634079324. 4

| )

faa

Question Number : 32 Question Id : 68634020081 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Among the following which evidence implies fact or events without proving it.

1. Circumstantial evidence

[ ]

. Direct evidence
3. Indirect evidence

4, Testimonial evidence

Options :

68634079325. 1
68634079326. 2
68634079327. 3
68634079328. 4

Question Number : 32 Question Id : 68634020081 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{4 & 9 &1 F yHI01 3OR1Y & Hifed gU faAr Ut o g
1. griRifere wamor

| ]

. W& U
3. A& WHTTT
4. PTG AT

Options :

68634079325. 1
68634079326. 2
68634079327. 3
68634079328. 4

Question Number : 33 Question Id : 68634020082 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five major classes of immunoglobuling are

1.IgP, IgD. Ig N.Ig M and Ig O

[ ]

Ig G, IgE.IgL.IgDandIg O
3.1 G, Ig A Ig M, IgDand Ig E
4 IgR IgF IgH IgAandIgY
Options :

68634079329. 1
68634079330. 2



68634079331. 3
68634079332. 4

Question Number : 33 Question Id : 68634020082 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRIARGISGIA (ioR &l Teiegfer) 1 Uld 0 P&l o

1.IgP.Ig D.Ig N. Ig M 3{R Ig O

| )

1gG.IgE. IgL, Ig D3RI O
3.1gG.IgA. Ig M, Ig D 3R Ig E

4 1gR IgFIgHIgA3RIgY

Options :

68634079329. 1
68634079330. 2
68634079331. 3
68634079332. 4

Question Number : 34 Question Id : 68634020083 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The writing in which the person has made a deliberate attempt to remove or modify all or some of the writing
habits 1s known as

1. Disguised writing

[ ]

. Forged writing
3. Over writing
4. Hand writing

Options :

68634079333. 1
68634079334. 2
68634079335. 3
68634079336. 4

Question Number : 34 Question Id : 68634020083 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634079333. 1
68634079334. 2
68634079335. 3
68634079336. 4

| ]

Lad

Question Number : 35 Question Id : 68634020084 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following do not represent the growth phase of hair.

1. Anagen

-2

. Catagen

. Telogen

L%}

4. Phenogen

Options :

68634079337. 1
68634079338. 2
68634079339. 3
68634079340. 4

Question Number : 35 Question Id : 68634020084 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634079337. 1
68634079338. 2
68634079339. 3
68634079340. 4

Question Number : 36 Question Id : 68634020085 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Individuals who produce A, B and H blood group specific substances in body fluids are called as.

1. Secretors

[ ]

. Non Secretors

. Lew1s positive

[F¥]

4. Lewis negative

Options :

68634079341. 1
68634079342. 2
68634079343. 3
68634079344. 4

Question Number : 36 Question Id : 68634020085 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d fdd Wil S0 RIS avll & ARV $UH A, B AUTH s0S JU aret 9a1d 39 Hd 5 | 3% Ped o-
1. RpicH

5

4. g9 fca

Options :

68634079341. 1
68634079342. 2
68634079343. 3
68634079344. 4

Question Number : 37 Question Id : 68634020086 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which on of the following 1s not responsible for tremor m a person's hand writing

1. Parkinsonism

[ ]

. Senile dementia
3. Alcohol intoxication

4, Common Cold

Options :

68634079345. 1
68634079346. 2
68634079347. 3
68634079348. 4

Question Number : 37 Question Id : 68634020086 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&8 9 $F Ue fad & e | $ & g SR 98l 32
1. =gt
. SiTof T

| ]
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Options :

68634079345. 1
68634079346. 2
68634079347. 3
68634079348. 4

Question Number : 38 Question Id : 68634020087 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Postmortem caloricity 1s not observed . which of the following causes of death:

1. Tetanus

[ ]

. Barbiturate poisoning
3. Strychnine poisoning
4. Septicemia

Options :

68634079349. 1
68634079350. 2



68634079351. 3
68634079352. 4

Question Number : 38 Question Id : 68634020087 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T T g & SRl & I T & w9 fafeen whem Swie 781 Sifen o 32
1. ¢
. SRfIEe faurea
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4. Yo fawTadar

Options :

68634079349. 1
68634079350. 2
68634079351. 3
68634079352. 4

| )

T

Question Number : 39 Question Id : 68634020088 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H
I
The structure H — ¢ — OH represents
I
H

1. Methylene oxide

[ )

. Methanol

. Wood aleohol

L% ]

4, Amyl alcohol

Options :

68634079353. 1
68634079354. 2
68634079355. 3
68634079356. 4

Question Number : 39 Question Id : 68634020088 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634079353. 1
68634079354. 2
68634079355. 3
68634079356. 4

Question Number : 40 Question Id : 68634020089 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the methods to know the time since death is by measuring the body temperature. For recording the
temperature of dead body the thermometer is to be place in

1. Groin

[ ]

. Rectum

. Under arm

[

4. Mouth

Options :

68634079357. 1
68634079358. 2
68634079359. 3
68634079360. 4

Question Number : 40 Question Id : 68634020089 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634079357. 1
68634079358. 2
68634079359. 3
68634079360. 4

Question Number : 41 Question Id : 68634020090 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following methods is use for the comparison of components of ink samples.

1. Gas Chromatography

-2

. Thin layer Chromatography

[F¥]

. ESDA (Electrostatic Detection Apparatus)

=Y

. Supermmposition technique

Options :

68634079361. 1
68634079362. 2
68634079363. 3
68634079364. 4

Question Number : 41 Question Id : 68634020090 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 715 gufcfast
. TR auiaf@s®t
T U 31 U (AR d3gd Sga SUH)
4. HARYO Th-1H

Options :

| ]

Lad



68634079361. 1
68634079362. 2
68634079363. 3
68634079364. 4

Question Number : 42 Question Id : 68634020091 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Narcotic drugs fall in which of the under mentioned categories:

1. Analgesics

ol

2. Stimulants
3. Hallucinogens

4. Depressants

Options :

68634079365. 1
68634079366. 2
68634079367. 3
68634079368. 4

Question Number : 42 Question Id : 68634020091 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
piics 19 e | 9 6y ol 1§ orar g2
1. UrSTer
SSARED
RSIREIEE]
4. AAHIEGHRI

Options :

68634079365. 1
68634079366. 2
68634079367. 3
68634079368. 4

| ]

Lad

Question Number : 43 Question Id : 68634020092 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following 1s not one of the example of Column Chromatography:.

1. Size exclusion Chromatography

[ ]

. Column Chromatography
3. Paper Chromatography

4. Ton exchange Chromatography

Options :

68634079369. 1
68634079370. 2
68634079371. 3
68634079372. 4

Question Number : 43 Question Id : 68634020092 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFafiRad o 9 ®H wiy/eian auidiEs] BT 9093 SETE0 T8 o7

1. HTHR el quicaP]

 EY/HIay auidfEaes!
3. BTy auicf@ast
4. 3 fafAmg aofafast

Options :

68634079369. 1
68634079370. 2
68634079371. 3
68634079372. 4

-2

Question Number : 44 Question Id : 68634020093 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The center of ossification appears in the lower end of femur by
1. 30 weeks of intrauterine life
2. 32 weeks of intrauterine life
3. 34 weeks of infrauterine life

4, 36 weeks of intrauterine life

Options :
68634079373. 1
68634079374. 2



68634079375. 3
68634079376. 4

Question Number : 44 Question Id : 68634020093 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SfdeT & [ad UFT H HRUFHI 61 S UdHe gidl e-
1. 3ichk: TR Silad & 30 HEI8
. 3ick: TR Silad & 32 Hulg
. 3ick: TR Silad & 34 HUIg
4. 3ick: IR Silad & 36 HIB

Options :

68634079373. 1
68634079374. 2
68634079375. 3
68634079376. 4

-2

T

Question Number : 45 Question Id : 68634020094 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who gave the law of triads

1. Newland

[ ]

. Mendeleev

. Dobereiner

Lad

4. Rutherford

Options :

68634079377. 1
68634079378. 2
68634079379. 3
68634079380. 4

Question Number : 45 Question Id : 68634020094 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4. 9EIBIS

Options :

68634079377. 1
68634079378. 2
68634079379. 3
68634079380. 4

Question Number : 46 Question Id : 68634020095 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Electrostatic detection apparatus 1s used for

1. Revealing indented writing on document

[ ]

. Revealing latent fingerprint
3. Revealing addition in a document

4. Revealing writing on charred document

Options :

68634079381. 1
68634079382. 2
68634079383. 3
68634079384. 4

Question Number : 46 Question Id : 68634020095 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R 93gd Sg=- ISR 1 SUTNT 641 F1ar 32
1. Ueig TR Sdd O 39TR &
3. TGS/ VG TR IREd GoTR ST

| ]

4. 9 gU adldvl U ¢ig- JuilflX PIH]

Options :
68634079381. 1



68634079382. 2
68634079383. 3
68634079384. 4

Question Number : 47 Question Id : 68634020096 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Transition element belongs to which block of eliments

1. p-block

[ ]

. d-block

. f-block

aa

4, g-block

Options :

68634079385. 1
68634079386. 2
68634079387. 3
68634079388. 4

Question Number : 47 Question Id : 68634020096 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl dcd, ddl & drfdhg ©s H Aare?
1.P-ES

. d-93

| ]

R RGI

Lad

4. 5@6

Options :

68634079385. 1
68634079386. 2
68634079387. 3
68634079388. 4

Question Number : 48 Question Id : 68634020097 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Unique characteristies of any physical evidence which is used for identification 1s called as

1. Specification

[ ]

. Classification
3. Individualization
4. Recognition

Options :

68634079389. 1
68634079390. 2
68634079391. 3
68634079392. 4

Question Number : 48 Question Id : 68634020097 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foredt aitfores waTor 6t S faRerand, fomeT ST frmed & o e oirar 8. 5= 1 Sel 9l 62
1. fafew

Rt

3. ST BT vl

4. fRE

Options :

68634079389. 1
68634079390. 2
68634079391. 3
68634079392. 4

| )

Question Number : 49 Question Id : 68634020098 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gention Violet method 1s used to develop latent fingerprint on which type of surface.

1. Paper surface

[ )

. Sticky side of adhesive tape surface
3. Unfurnished wood surface

4, Human skin surface

Options :
68634079393. 1
68634079394. 2



68634079395. 3
68634079396. 4

Question Number : 49 Question Id : 68634020098 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ -

SFICTH digee [aft fy aee & 9 R Si1d Sfasrdl & [de¥d @ & [ 39 gidr 87
. BTGl 9de
2. dUGR ¢U $| (U arel dib

3. HYgfwid AP el arel 9ds

fa—

4. /-9 99 |dg

Options :

68634079393. 1
68634079394. 2
68634079395. 3
68634079396. 4

Question Number : 50 Question Id : 68634020099 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following correctly demonstrates the resolving power of a microscope.

1-224
1. X = : i
numerical apperture
. 1-224
™0 numerical apperture
. 1-44
. Xmﬂ.'-L = : -
numerical apperture
AT = 1-444
™ numerical apperture
Options :
68634079397. 1
68634079398. 2
68634079399. 3
68634079400. 4

Question Number : 50 Question Id : 68634020099 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



0 & O $H, AEmRe™ ©f [GUe & dl ©f Yol did U Gdl g2

1-224

b, s = i
numerical apperture
_2” X . = ] % 2211.
™ numerical apperture
1-442
3. Xnmx = . .
numerical apperture
4 X = 1-444
™" numerical apperture
Options :
68634079397. 1
68634079398. 2
68634079399. 3
68634079400. 4

Question Number : 51 Question Id : 68634020100 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Radio activity of a substance can be measured by
1. Geiger Muller Counter
2. Neon tubes
3. Radiometric methods

4. Photomultiplier tubes

Options :

68634079401. 1
68634079402. 2
68634079403. 3
68634079404. 4

Question Number : 51 Question Id : 68634020100 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fopit el @t YSarafthaal & §9% gRI A9 Sl & |
1. TR JTR A3

. 3 s Al

3. fafopofafas fafy

4, DI CIIR et B - SoaeH! Had- el
Options :
68634079401. 1
68634079402, 2

68634079403. 3
68634079404. 4

| B

Question Number : 52 Question Id : 68634020101 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Numerical aperture 1s equal to which of the following

[a—y

.nsin@

| )

.ncosé

T

.ntan@

4. peos @

Options :

68634079405. 1
68634079400. 2
68634079407. 3
68634079408. 4

Question Number : 52 Question Id : 68634020101 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT GRS 378 9 fHUs T 57

fa—y

.nsiné

| ]

.necosé

[ ¥]

.ntan@

4 pycos @

Options :
68634079405. 1



68634079406. 2
68634079407. 3
68634079408. 4

Question Number : 53 Question Id : 68634020102 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The prineiple of superposition can also be expressed by which of the following

1. Collapsing of waves algebraically added to produce a resultant wave

[ ]

. Overlapping waves added to produce a resultant wave

aa

. Overlapping waves algebraically added to produce a resultant wave

4. Collapsing of waves added to produce a resultant wave

Options :

68634079409. 1
68634079410. 2
68634079411. 3
68634079412. 4

Question Number : 53 Question Id : 68634020102 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T &1 IR Rgid 1 79§ 3 {5y ave S ouren &1 off 94l 272

1. GRumHT d31 30 B & (AU doruRdg $9 9 Sl 70 d3 61 gl

| )

. OROTTH] G 30 S & [ aaT &1 Afaarfed g
3. ORUMHT T 39 & & (61U |IoHIURIY 9 9 Sl U o911 &1 HATaaiidd s

4, GROTH! G307 30 B (AU d3 &1 gl

Options :

68634079409. 1
68634079410. 2
68634079411. 3
68634079412. 4

Question Number : 54 Question Id : 68634020103 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which on of the following 1s the correct option for calculating the motion of car on a banked road

R
R

2. F=ma
|
3.y g, Lettand )2
max g £ s tan
/ N
4 T :IR lux—!aﬂf'r" I
max | £ ]_;;_»,- [a[lﬂ,]

Options :

68634079413. 1
68634079414. 2
68634079415. 3
68634079416. 4

Question Number : 54 Question Id : 68634020103 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 7 9 &1 - 91 fadgeg 9dty 9dg W oR &1 71 &1 IS 3 & o gel 82

2
¥
1= n
R
2.F=ma
] \I
3. V. .4} R, s +tand )2
S "l ustand

I
s —tan & 2

e ; i
max |.\ g 1+ Lts tan g ,'|

Options :

68634079413. 1

68634079414. 2

68634079415. 3

68634079416. 4

Question Number : 55 Question Id : 68634020104 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The first crime laboratory of America (Chicago) was established in the year

1. 1910

[ ]

. 1929
3. 1930

4. 1936

Options :

68634079417. 1
68634079418. 2
68634079419. 3
68634079420. 4

Question Number : 55 Question Id : 68634020104 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SR (FRIBTU) Hi gl SRy WIRT=Ie 98 ay | 41U 85

1. 1910

| ]

. 1920
3. 1930

4. 19306

Options :

68634079417. 1
68634079418. 2
68634079419. 3
68634079420. 4

Question Number : 56 Question Id : 68634020105 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sir Edward Henry developed a classification system for fingerprints that became the standard taxonomy in
Europe and North America m the year

1. 1908
2. 1896

. 1899

[

4. 1904

Options :
68634079421. 1
68634079422. 2



68634079423. 3
68634079424. 4

Question Number : 56 Question Id : 68634020105 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

USas NI g1 [ad SIfcTsdl &1 arie vl UGia, [ au H ZRIY 3R ST SHRE] &1 0 afie|
CEiW

1. 1908

)

. 1896
3. 1899

4. 1904

Options :

68634079421. 1
68634079422. 2
68634079423. 3
68634079424. 4

Question Number : 57 Question Id : 68634020106 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A mixture of benzaldehyde and formaldehyde on heating with aqueous NaOH solution gives:

1. Sodmum benzoate and methyl alcohol

[ ]

. Sodmm benzoate and Sodium formate
3. Benzyl aleohol and Sodium formate

4. Benzyl alcohol and Methyl alcohol

Options :

68634079425. 1
68634079426. 2
68634079427. 3
68634079428. 4

Question Number : 57 Question Id : 68634020106 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SIEi NaOH 30 & 1Y doifcaeiss Ud BiH@ess & MY & TH &3 U g4 U8 UId 81dT &;
. gifETy s=aiiue aut [Hurg- ehied

. TIT$TH S=eiiye au1 |ifsTH BiEe

S0 3fepied aul gifsay Bide

4, S90S Hehled aul FHUSd 3fehied

[a—y

| B

Lad

Options :

68634079425. 1
68634079426. 2
68634079427. 3
68634079428. 4

Question Number : 58 Question Id : 68634020107 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following processes is exothermie?

LN SN

[ ]

.N—N*
3.N—> N~
4. Nt 5 N

Options :

68634079429. 1
68634079430. 2
68634079431. 3
68634079432. 4

Question Number : 58 Question Id : 68634020107 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=98 O & -9 YT SUHTET UhH 87

LN >N

| )
2:
\:
_‘_:_:
+

3.N >N~

4. Nt 5 N

Options :
68634079429. 1
68634079430. 2



68634079431. 3
68634079432. 4

Question Number : 59 Question Id : 68634020108 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following acidie strength order 1s wrong?

1. H3A$04 = H3 4%.503

[ ]

3. HNO; > HNO,

4. O- nitrophenol = p - nitrophenol

Options :

68634079433. 1
68634079434. 2
68634079435. 3
68634079436. 4

Question Number : 59 Question Id : 68634020108 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S T B g1 AT YGadT 69 7Tad 87

1. H_q."""ﬁ.SO,_‘ = H3 ‘%363

[ )

: HESCM_ = H2304

3. HNO; > HNO,

4, O- ARCIPAId > p - AgePA

Options :

68634079433. 1
68634079434. 2
68634079435. 3
68634079436. 4

Question Number : 60 Question Id : 68634020109 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The electronegativities of two elements A and B are | 8 & Zlil respectively and the relationship between

them 1s given by
|24 — 7a| = 0.102JAA-B

Where A A-B is the resonance energy expressed in kI mol™!. If A A-B is zero then which of the following
statement 1s true

L2y > Xn

[ )

XA < Xn
3. X8 = X
4, Can not be predicted

Options :

68634079437. 1
68634079438. 2
68634079439. 3
68634079440. 4

Question Number : 60 Question Id : 68634020109 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The electronegativities of two elements A and B are | 5 4 & Zlal respectively and the relationship between

them 1s given by
|2x — 25| =0.102VAA-B

Where A A-B is the resonance energy expressed in kI mol™. If A A-B is zero then which of the following
statement 1s true

L2y > Xn

[ )

. Aa <2
3. X=X
4, Can not be predicted

Options :

68634079437. 1
68634079438. 2
68634079439. 3
68634079440. 4

Question Number : 61 Question Id : 68634020110 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which trace element plays a very important role in nucleic acid metabolism, tissue repair and cell replication

1.7Zn

!u
o
(11

4. Cu

Options :

68634079441. 1
68634079442. 2
68634079443. 3
68634079444. 4

Question Number : 61 Question Id : 68634020110 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S T B I1 dcd aiteh HI I . HREAT AT HIRIe1 GARg il 5 g YfHeT Fymar 32

1.7n

[ )

. Fe

4. Cu

Options :

68634079441. 1
68634079442. 2
68634079443. 3
68634079444. 4

Question Number : 62 Question Id : 68634020111 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which law is also known as the Principle of Photochemiecal Activation:

1. Lamberts Law

-2

. Grothus - Draper Law

[F¥]

. Draper Law

4. Stroke Law

Options :

68634079445. 1
68634079446. 2
68634079447. 3



68634079448. 4

Question Number : 62 Question Id : 68634020111 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g g &1 uer I9afe gfeau &1 fgia ot serarar g2
1. oge &1 g
U SR BT e

| ]

S B g
4. IT® &1 a9

Options :

68634079445. 1
68634079446. 2
68634079447. 3
68634079448. 4

Lad

Question Number : 63 Question Id : 68634020112 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the undermentioned compound is most susceptible to nucleophilic attack at the carbonyl group-

1. CH;COCl

[ )

. CH,CHO
3. CH;COOH;

4. CH;COOCOCH;

Options :

68634079449. 1
68634079450. 2
68634079451. 3
68634079452. 4

Question Number : 63 Question Id : 68634020112 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ﬁyﬁﬁﬁéﬁamﬁrﬁﬂaﬁaﬁw%mmﬂﬁm THHUI §H IR &Y e
HagTid 82

1. CH;COCl

[ ]

. CH,CHO
3. CH;COOH;

4. CH;COOCOCH,

Options :

68634079449. 1
68634079450. 2
68634079451. 3
68634079452. 4

Question Number : 64 Question Id : 68634020113 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dry casting method 1s used in casting of 3-D tire marks present on.

1. Wet Sand Surface

[ ]

. Snow Surface
3. Carpet Surface

4, Wet Soil Surface

Options :

68634079453. 1
68634079454. 2
68634079455. 3
68634079456. 4

Question Number : 64 Question Id : 68634020113 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$1e P At [y Jag IR dieg off St erar Are faeuur & foru gt 37
1. Tl eitell 9ag

3 3

4. Tt frgt aredt 9ag

Options :



68634079453. 1
68634079454. 2
68634079455. 3
68634079456. 4

Question Number : 65 Question Id : 68634020114 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A mass spectrometer 1s an instrument which separates ionized atoms. molecules or fragments of molecules or
Fragments of molecules by the difference in their

1. Mass-to-molecular number ratio

2. mass-to-charge ratio

[P

. Charge-to-mass ratio

4. Charge-to-molecular number ratio

Options :

68634079457. 1
68634079458. 2
68634079459. 3
68634079460. 4

Question Number : 65 Question Id : 68634020114 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR A Tae el o 04 § S S{TT1Sss TRATEL, 30T 3R Ui & Ths| ol I |
AR P HTIR AT P B |

1. RHTUGY &A1 & FIU&] SodHM SUTd

[ ]

. SO0HM- H- 31 P ST
3. AR -H- FOOHM BT 30
4. 3199 -9 TRHIUGHY S 61 39T

Options :

68634079457. 1
68634079458. 2
68634079459. 3
68634079460. 4

Question Number : 66 Question Id : 68634020115 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A : Group 18 of p-block elements are all noble gases.

Reason R : All the orbits in valence shell are completely filled.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

[ ]

. Both A and R are correct but R is NOT the correct explanation of A

. A 15 correct but R 15 not correct

(5]

4. A is not correct but B is correct

Options :

68634079461. 1
68634079462. 2
68634079463 3
68634079464. 4

Question Number : 66 Question Id : 68634020115 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CIEEIERIE %E”TE{ % R IF AIE] (Assertion A) & 0 4 T % al G PIRUT (Reason R) & IUH;

HTUHYT A : P-TS dcdl & THg -18 § 9 SPP B

PRI R : Fo@d o9 B g e gufe: i g o

SURIT B & 3T 4, =i f3U T faseul & ¥ ad SUged SR &1 99 B 1oy
1. A IR RS 981 € 3R R, AD! el ARAT

ASRR S TEE, PR, AT IS RN TR B

AT g dfdTR Wl 6T §

AW T T ABTR I T

Options :

68634079461. 1
68634079462. 2
68634079463. 3
68634079464. 4

[ ]

[ 5]

s

Question Number : 67 Question Id : 68634020116 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A : Silver nitrate 15 a liquid based latent finger print developing agent.

Reason R : Silver nitrate reacts with the salt/chemical present in sweat and makes 1t visible.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R 1s NOT the correct explanation of A

3. A 1s correct but R 1s not correct

4. A is not correct but R is correct

Options :

68634079465. 1
68634079466. 2
68634079467. 3
68634079468. 4

Question Number : 67 Question Id : 68634020116 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I al P %[{Tl'[{ % R P EAIE (Assertion A) & »9 d fafag % | G P (Reason R) HIOH;

HTUFYT A : Riear A15¢e U 54 1uRd SiFd siilfaedl o [defd # @1 dR® 5|
HRUTR : Heox A1g¢e wHiH T Ol 0% | T90H & 91y 61 e 38 TxaqH- a1 5 |
SR BYH & Sl 4, A1 [GU U fddedl § § 999 SUgad SO% &1 997 SIulu

1. A SRR EHI Hel § AR R. A DI U8l TRAT B

2. A 3R R EHI UEt 8, AfbR , A Bt Gl ourem AT &

3. ATEI S AP R IS TR ©

4. AT TRl e AfT R TET B

Options :

68634079465. 1
68634079466. 2
68634079467. 3
68634079468. 4



Question Number : 68 Question Id : 68634020117 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason B
Assertion A : During putrefaction of a dead body of an infant the brain putrefies very late.

Reason R : In infant the skull bones are thin and the presence of fontanelles in the brain of mfants very rapidly
become soft and pulpy.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are correct and R 1s the correct explanation of A

[ ]

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R 1s not correct

4. A is not correct but R is correct

Options :

68634079469. 1
68634079470. 2
68634079471. 3
68634079472. 4

Question Number : 68 Question Id : 68634020117 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
:ﬁﬁﬁmﬂﬁqm % R P EAIE (Assertion A) %Wﬁﬁﬁaﬁ%fﬁw PR (Reason R) HIOH;
STUSHYT A : U %] & TRR & G4 Uichan 1, fann agd & & 9fsagiad siar g

HRUIR : WUS] &I Udell sigal T Seliqria &1 Sufifd o1 avg 9. Ry &1 feam Jedl 9 garad ud
4R 81 Sl § |

QRIS B & STl 4, - AU 1 fasedi & 9 ad SUed S<) &1 99 &11u
1. A SR R &I 98l € AR R. A | Hel AT &

A SRR EHI 921 ¢, AR , A DI el ARAT 8] ©

AT AHTR TSR

ARSI g Wl R Rl §

Options :

68634079469. 1
68634079470. 2
68634079471. 3
68634079472. 4

[ )

faa

=S



Question Number : 69 Question Id : 68634020118 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A ; Ethics in the Forensic Science 1s complex and challenging,

Reason R : Because it functions at the interface of science and Law.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

| ]

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R 1s not correct

4. A is not correct but R is correct

Options :

68634079473. 1
68634079474. 2
68634079475. 3
68634079476. 4

Question Number : 69 Question Id : 68634020118 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
:ﬁﬁﬁmﬂﬁqm % R P EAIE (Assertion A) & ¥ d fafad %t_‘ﬁ G PRUT (Reason R) HIOH;
HTUFYT A . TP oy & Afae sfed ud gHIfaqui 81
HRUR : Hi{h T5 a5 Td B & Uy U S Bl 6 |
RIS U & HTalies 1, - 34U T fasedl § ¥ ad SUgad SR & 99 B 11o1U

1. A IR R EFI el & AR R AT el oI &

2. A 3R R EHI UEt 8, AfbR , A Bt Gl ourem AT &

3. ATEI S AP R IS TR ©

4. AT TRl e AfT R TET B

Options :

68634079473. 1
68634079474. 2
68634079475. 3



68634079476. 4

Question Number : 70 Question Id : 68634020119 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A : A ridge count of 2 will be taken during ridge counting of loop pattern.
Reason R : This 1s possible only when the imagmary line passes from middle of enclosure.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

[ ]

. Both A and R are correct but R 1s NOT the correct explanation of A

. A 15 correct but R 15 not correct

[F¥]

4. A 1s not correct but E. 1s correct

Options :

68634079477. 1
68634079478. 2
68634079479. 3
68634079480. 4

Question Number : 70 Question Id : 68634020119 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
i gl By feu e g AP (Assertion A) @ ¥4 H faiad gdl U PRI (Reason R) & IUH:
SfUEYT A : TRy U0 H S T & SRE Z B Fed AT &1 STt
®RUTR : 98 $Had qHl YT ¢ o Bled-d Y@1Y BR1d & Je 9§ TR o
SWRITd BYH & 3fAe 4, =19 30 T fadenl & I Jaw Fat 3R &1 997 Hifog
1. A 3R R I T8I § 3R R, A T Ug! o411 §
A SRR I I8 8, PR , A DI TG ORAT 61 &
AFEIEAPIRTEITE §
AT TS s AR T8

Options :

68634079477. 1
68634079478. 2
68634079479. 3
68634079480. 4

[ ]

5]

e



Question Number : 71 Question Id : 68634020120 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason B

Assertion A : Enzyme-multiplied immuno assay technique has gained widespread popularity among
toxicologists.

Reason R : This technique 1s popular due to its speed and sensitivity for detecting drugs in urme.
In the light of the above statements. choose the eorrect answer from the options given below

1. Both A and R are true and R 1s the correct explanation of A

| )

. Both A and R are true but R 1s NOT the correct explanation of A
3. A s true but R 1s false

4. A is false but B 1s true

Options :

68634079481. 1
68634079482. 2
68634079483. 3
68634079484. 4

Question Number : 71 Question Id : 68634020120 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
I gl B %QTFU, % S EAIE| (Assertion A) & %9 | fafad % | g PRI (Reason R) &3O H;
HTUFYT A : U120 Aol @ies SRIHAISTHYA o1 - claudbiaiene 8§ g3 a® WG U o
BRUIR : I O U=0Ta B T P10l I3 & 30+t 71 Ud Yag-=ierar & HRor G g
SURIFT HUH & SHelie 1, 1= 16U Y fddedi T 4 T5t S9R &1 994 iy

AR REA 9GS € SRR, AT Jel AR ©

[

ASIRREFIUEI €. AMPAR . AT Tt e T ©

-

AGSIEAfpTR TR ST

Lad

AT TR ofF TR TR

Options :
68634079481. 1
68634079482. 2

s



68634079483. 3
68634079484. 4

Question Number : 72 Question Id : 68634020121 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Different stages involved m dealing with wildlife evidences mclude detection and collection,
handling of evidence. sealing of evidence. transfer and transportation of evidence. storage and processing of
evidence.

Reason R : Proper crime scene investigation of wildlife erime may result in 1dentification of Poacher.

In the light of the above statements. choose the correcr answer from the options given below

1. Both A and R are true and R 1s the correct explanation of A

|

. Both A and R are true but R 1s NOT the correct explanation of A
3. A 1s true but R 1s false

4. A s false but B 1s true

Options :

68634079485. 1
68634079486. 2
68634079487. 3
68634079488. 4

Question Number : 72 Question Id : 68634020121 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
CIEEIERIE %E”TE{ % R IF AIE] (Assertion A) & ¥ 4 foiad % al G PRUT (Reason R) & IUH;
MfUFEYT A : TFTetoiia waTon 9§ e o fafis wor § 52 yamol &1 gg==-1 9 Uea &A1, wErlt &1
RELEIRRIDREZGIT
BRUTR : SATCGd HURTY H S[URTY I DI 3 dbdiRl ISR &I ygdr - 1 Heg &l 6|
JURIG BY D STl 1, = fGU T fadedi ¥ 4 Hel Sw% BT 997 Hifeiw

1. A SRR I TEI & AR R A DI el I &

AIRRIA TE S, AfPTR AT TSl AR To ©
AGSIE AR RS
AT TR TR TS

Options :

[ o]

L]

pes



68634079485. 1
68634079486. 2
68634079487. 3
68634079488. 4

Question Number : 73 Question Id : 68634020122 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Arrange the chromatographic technique in accordance with their inception:
A. Paper Chromatography
B. Gas Chromatography
C. High performance liquid Chromatography
D. Micellar electro kinetic Capillary Chromatography
Choose the correct answer from the options given below:
1.A.D.C.B
2.A.C.D.B

A,B,C,D

T

4.A,C,B,D

Options :

68634079489. 1
68634079490. 2
68634079491. 3
68634079492. 4

Question Number : 73 Question Id : 68634020122 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafafad auiaas! aeqie! B 395! TUffEal & YR R THag DIy

A, PITS UGS

B. T guicif@st

. 3= (Fudre & quiciaas!
D. firrt fagga o aviafast

i< fGu TU fdeedl | U 9el IR &l 99 $Iui:

LLAD.C.B

-2

.AC.D.B
3.LAB.C.D

4 ACB.D

Options :



68634079489. 1
68634079490. 2
68634079491. 3
68634079492. 4

Question Number : 74 Question Id : 68634020123 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Chose the correct order of iconic radius for the following species
AT
B. CI”

C. Ar’
D. Te*

Choose the correct answer from the options given below:
1.B=A>D>C
2.D=A>B=>C

AZD=B=C

L]

4. A>B>C>D

Options :

68634079493. 1
68634079494. 2
68634079495. 3
68634079496. 4

Question Number : 74 Question Id : 68634020123 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 ®1 39% M- Fearel & Tg! &4 J 9af4d S|

AT
B.CI”
C.Ar"
D. Tez™
i< fau U fa el § O Tgl SR &1 98- Sl

1.B=A=D=C

-

D=A>B=C

3JJAZD>=B=>C

4. A>B>C>D



Options :

68634079493. 1
68634079494. 2
68634079495. 3
68634079496. 4

Question Number : 75 Question Id : 68634020124 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the the components of a UV-v1s Spectrophotometer m correct order.

A Detector

B. Monochromator
C. Radiation Source
D. Recorder

E. Sample holder

Choose the correct answer from the options given below:

1.C.E.B.A. D

| ]

.C.B.E.D,A
3.C.B,E.AD

4. E.B.C.D.A

Options :

68634079497.
68634079498.
68634079499.
68634079500.

WO =

Question Number : 75 Question Id : 68634020124 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



VV-vis TFEIHCI & UeH| &1 Yol HH H afld Sifeg|

A WFP

B. U% gfofd
c. fafevor ==
D. Jffierdt

E. 404 gleey

e fau U faegl § O gl 3R & T84 Sl

1.C,E.B.A.D

| ]

L.C.B.E.D.A
3.C.B.E.AD

4.E.B.C.D.A

Options :

68634079497. 1
68634079498. 2
68634079499. 3
68634079500. 4

Question Number : 76 Question Id : 68634020125 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one is the correct order of acidic strength for the under mentioned compounds

OH

A

OH

A

CH,

OH

A

NO,

OH

A

NO,

Choose the correct answer from the options given below:
1.C>D>A>B
2A>D>C=>B
3.BA>=C>D

4.D>C>A>B

Options :

68634079501. 1
68634079502. 2
68634079503. 3
68634079504. 4

Question Number : 76 Question Id : 68634020125 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= 23U AT 1 ! STty Uaedl & YR R Hg! H I @d gu fdded gHU|

OH
A.
OH
B.
CH,
OH
i,
NO,
OH
D.
NO,
i U U f[de el | U Uel 3R &l 994 I
1.C>D>A>B
2.A>D>C>B

3. BA>=C>D

4 D>C>A>B

Options :

68634079501. 1
68634079502. 2
68634079503. 3
68634079504. 4

Question Number : 77 Question Id : 68634020126 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the proper order the establishment of (CFSL) (old to new)

A. CFSL Hyderabad
B. CFSL Kolkata

C. CFSL Bhopal

D. CFSL Chandigarh

Choose the correct answer from the options given below:

1.LA.B.C.D

[ ]

.B.A.D.C
31B.D.AC

4 C.A.D.B

Options :

68634079505.
68634079506.
68634079507.
68634079508.

AW N =

Question Number : 77 Question Id : 68634020126 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FSL &1 3] R & YR W Hel 0 I &gl (- 9 =41

A. CFSL 82191
B. CFSL HId®DIdl
C. CFSL HI9Td

D. CFSL 9SiTg

i f5u U f[de el | U 9el 3T &l 994 &I

1LA.B.C.D

| )

.B.A,.D.C
3.B.D.AC

4. C,A.D.B

Options :

68634079505. 1
68634079500. 2
68634079507. 3
68634079508. 4

Question Number : 78 Question Id : 68634020127 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sequence used for examination of fingerprint involves

A. Development of Fingerprint

B. Lifting of Fingerprint

C. Examination of characteristics of Fingerprints
D. Location of Fingerprint

E. Preparation of report

Choose the correct answer from the options given below:

1.LA.B.C.E.D

| ]

B.A.D.C.E
3.C.E.D.B.A

4 DA B.C.E

Options :

68634079509. 1
68634079510. 2
68634079511. 3
68634079512. 4

Question Number : 78 Question Id : 68634020127 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SATferaTY URigrur § aieferd =)ol &l siphH d oaiyd &1
A aﬂﬁiﬂqaﬂﬁﬁm
B.

C. aq%mqiﬁ?é‘mmaﬁamﬁ&fw
D. Ufdded ®1 darl

- feu e famedt # ¥ Uel SR O 90 DI

1. A, B,G,E, D

| ]

.B,A,D,C.E
3.C.E.D.B.A

4. D. A B.C.E

Options :

68634079509. 1
68634079510. 2
68634079511. 3
68634079512. 4

Question Number : 79 Question Id : 68634020128 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Arrange the following in increasing order of their refractive index
A A
B. Kerosene

C. Benzene
D. Water

Choose the correct answer from the options given below:

1.B>C>D>A

2

.C=B>D>=A

AEBFE>D

L]

4. A>D>B>C

Options :

68634079513. 1
68634079514. 2
68634079515. 3
68634079516. 4

Question Number : 79 Question Id : 68634020128 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafaiad & 76 Wads Gaoi® & agd HH 1 oaeyd i

A.dY
B. HRINH
C. goi
D. 9 d

Hid U TU fdeedl | U 9el IR &l 99 $Iuiu:

1.B>C>D=A

[ )

.C>B>D>A
3.A>B>C>D

4. A>D>B>C

Options :

68634079513. 1
68634079514. 2
68634079515. 3
68634079516. 4

Question Number : 80 Question Id : 68634020129 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statements I : Section 376B IPC defmes sexual intercourse by husband upon his wife during separation who
1s living separately. whether under a decree of separation or otherwise. without her consent.

Statements IT : The punishment for such an act 1s rigorous imprisonment for not less than § years but which
may extend up to 10 years with fine.

In the light of the above statements. choose the mosr appropriate answer from the options given below:

1. Both statement I and statement II are correct

[ )

. Both statement I and statement II are incorrect

. Statement I 1s correct but statement II 15 incorrect

L]

4, Statement I 1s incorrect but statement II 1s correct

Options :

68634079517. 1
68634079518. 2
68634079519. 3
68634079520. 4

Question Number : 80 Question Id : 68634020129 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIECIEAIEN g

HYT1 : SSUI B YR 376 B Uld U U TE 61, F1e JUD [S41 4 TE 61 81 41 331, Tal 9 Ul g1
{3 U 1T 019 TEMTE &I fa71 T4t & AFdl o

S 11 : U1 $F A UTd a9 & Fed SRIa, ol 10 T4 0% Tgmar o 961 7. R gaH 9
QUSHIT BT

SURIH HUH & 3fars . - 53U 7 el 4 ¥ 9a9 SUgad SR &1 994 HIT;
1. P IR 11 ST TET S
2. FYF 1 AR 1 SH T &
3. FYT 1 TG &, T Y 11 T §

4, DY 17T, AP HYT 11 T8t &

Options :

68634079517. 1
68634079518. 2
68634079519. 3
68634079520. 4



Question Number : 81 Question Id : 68634020130 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statements I : Double diffusion type of assay is an assay which a concentration gradient is established for
both an antigen and an antibody.

Statements IT : The most common examples of double diffusion type are the ring assay and the Ouchter lony
assay.

In the light of the above statements. choose the eorrecr answer answer from the options given below:

1. Both statement I and statement II are true

| )

. Both statement I and statement I are false
3. Statement I is true but statement II 1s false

4, Statement I 1s false but statement II 1s true

Options :

68634079521. 1
68634079522. 2
68634079523. 3
68634079524. 4

Question Number : 81 Question Id : 68634020130 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIECIEAIEN g

BYF 1 : HTT & ala [TIR0 WHR UH U1 STHTH ¢ ford ufde- iR uforeft 291 & forw us gigm
AR RIS

YT 11 : TSI} [OWR0 UPR & Yy JTH Ia1e0] aad STHO 3R TR Gl SHe B
SRS Y & 31clie 4, 919 3w Tu el & ¥ T8} SR 3R @1 904 i
1L PYT ISR 9a g

HUFI IR 3T B

[ ]

3. PYTITI 6, AT BT 9T &

4. PUYT TG, AT FUH I T &

Options :
68634079521. 1



68634079522. 2
68634079523. 3
68634079524. 4

Question Number : 82 Question Id : 68634020131 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statements I : Slide action. bolt action are types of smooth bored fire arm.

Statements IT : In a smooth bored firearm the spreading of shot 1s restricted by tapermg of the barrel at
muzzle and called as "Choke".

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both statement I and statement I are correct

| ]

. Both statement I and statement II are incorrect
3. Statement I is correct but statement II 15 incorrect

4. Statement I 1s incorrect but statement II 1s correct

Options :

68634079525. 1
68634079526. 2
68634079527. 3
68634079528. 4

Question Number : 82 Question Id : 68634020131 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR FyRUME:
HYF 1 : Tle-] HRATS AR dlee HRAL, aH| (G- qagdR] I Y (FY §8 BIER) & FHR o

HY 11 : -1 qageR] il Yo (HY a5 BRR 3H) T e &1 TR T9d & U™ cad I
IS aftd [ omar § 3R 39 9% Hel ol g

TG HYF & HTAIP H, A 20 770 formedt 3 T Iel S9R 3T &1 99 BIforT.
L. PYTI ARSI g9d§
HYT I AR I G AT B

[ ]

3. YT B, AT YT I 9T &

4. PYTI G, AT FY I I ©

Options :
68634079525. 1



68634079526. 2
68634079527. 3
68634079528. 4

Question Number : 83 Question Id : 68634020132 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statements I : Red blood cells and platelet cells are not used during DNA analysis for individual
identification.

Statements IT : Red blood cells and platelet cells do not contain nuclei.
In the light of the above statements. choose the eorrect answer from the options given below

1. Both statement I and Statement IT are true

| ]

. Both Statement I and Statement IT are false
3. Statement I is true but statement II 1s false

4. Statement I 15 false but statement I 1s true

Options :

68634079529. 1
68634079530. 2
68634079531. 3
68634079532. 4

Question Number : 83 Question Id : 68634020132 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
- 31 Py 3T U B:

HYF 1 : G YodH & Jael T ST [GRayur & U are o fRrerefl ok wieded &1 Riarsil &1
JaHT el feaT Al 8

HY 11 : TN 3G DD SR Weeed 8 B4 o] 5l o

TG HYF & HTAIP H, A 20 770 formedt 3 T Iel S9R 3T &1 99 BIforT.
1L BT AR GHI 9D §

PYAI AR I GH 3 &

[ ]

3. YT B, AT YT I 9T &

4. PYTI G, AT FY I I ©

Options :
68634079529. 1



68634079530. 2
68634079531. 3
68634079532. 4

Question Number : 84 Question Id : 68634020133 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statements I : In a case of oral ingestion of strong mineral acid with the intent of commiting suicide, if the
person 1s taken to hospital gastric lavage 1s given to remove acid from stomach.

Statements IT : Gastric lavage 13 a gastrointestinal decontamination technique.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both statement I and and Statement I are correct

| ]

. Both Statement I and Statement II are incorrect
3. Statement I is correct but statement II 15 incorrect

4. Statement I 1s incorrect but statement II 1s correct

Options :

68634079533. 1
68634079534. 2
68634079535. 3
68634079536. 4

Question Number : 84 Question Id : 68634020133 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BICCEAIERCI

HYT1: HHSYI D P 534 Y b @IS 331 DI HIRGD ¥ FTeH b A H, afe sufdd o
ST o STdT & dl 9P o6% Ue Y 3 g & ot Tie ddol fear snar g |

HYF 11 : IR Was U U [T | Ura-uiiy faeeuur da-1® § |

SIRIHI B & el 1. - [GU U foped] T € Tel SR &1 997 Sifold;
1. HYFI AR I GHI T §

BYT 1 AR I ST 3T 3

3. YT B, AT YT I 9T &

[ ]

4. PYTI G, AT FY I I ©

Options :
68634079533. 1



68634079534. 2
68634079535. 3
68634079536. 4

Question Number : 85 Question Id : 68634020134 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : Fingerprint is generally used for personal identification.

Statement IT : CODIS 1s used to store and match finger print.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both statement I and statement IT are correct

[ ]

. Both statement I and statement I are incorrect

. Statement I is correct but statement I1 1s incorrect

(5]

4. Statement I 15 incorrect but statement II 1s correct

Options :

68634079537. 1
68634079538. 2
68634079539. 3
68634079540. 4

Question Number : 85 Question Id : 68634020134 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S AR AIE AR

HYF 1 : ATSURH B YR 376 B U H GUP I6 61, 918 YUP (591 I 6 I8! 81 A1 S04, Uell § °fel gRT
feU 70 O gArE @1 faA1 ggafa & A gl

FYF 11 : UOT o FAaH U9 a8 & Yad SRar, o 10 99 96 agrar o J&dl §, AR g3 9
EUS1g B

SRITd $UT F TS H, 7= U 70 feadt & T 98l 39X &1 9949 Fifed
1. PYTIAR I EH a8
HUTI AR SHT TS

| ]

3. PYTI 9T &, AT YT I ST &

4. PYT IO, AT P I I ©

Options :
68634079537. 1



68634079538. 2
68634079539. 3
68634079540. 4

Question Number : 86 Question Id : 68634020135 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statements I : Heat is a form of energy transformed between two or more systems by virtue of temperature
difference.

Statements IT : ST unit of temperature 1s Kelvin (K)
In the light of the above statements. choose the eorrecr answer from the options given below

1. Both Statement I and statement IT are true

[ )

. Both Statement I and statement IT are false
3. Statement I 1s true but statement 11 1s false

4. Statement I 1s false but statement I 1s true

Options :

68634079541. 1
68634079542. 2
68634079543. 3
68634079544. 4

Question Number : 86 Question Id : 68634020135 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e &l dy fJU U €
HY 1 : AUHH R & BRUIE] AT S#fe Juier & si= RIFTGRd FHell @1 1P 31§
HYF 11 : AIHH &1 ST HES Hied (K) B
JURITd BYA & ATAP H, HH R fadeed § T 9gt STR &1 904 B
1. YT AR I GH T §
B 1 SR I GHT 3T B

[ ]

3. PYT I ., AP HYF I 3T ©

4. PYTI T, AT PYT I I ©

Options :
68634079541. 1
68634079542. 2



68634079543. 3
68634079544. 4

Question Number : 87 Question Id : 68634020136 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A crime is any

A Tllegal act only 1if observed by a police officer.
B. Act Forbidden by the law.

C. Omussion forbidden by law.

D. The only act which has been reported.

Choose the correct answer from the options given below:
1. A and B only

2. B and C only

I

faa

.C and D only

4. Aand D only

Options :

68634079545. 1
68634079546. 2
68634079547. 3
68634079548. 4

Question Number : 87 Question Id : 68634020136 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IRTY B
A. ad fed gferg el gRI 4@ WM W g3 TR-$I

Cﬁfﬁmﬁﬁ?ﬁ'&ﬁw
D. ®ad a8l . S RUIE a1 man gl

=i feu T fa@edl # 9§ 98l SR & 98- DI
1. $dd A 3R B
2. PadB AR C
3.%ad C IR D
4. 5ad A 3R D

Options :
68634079545. 1



68634079546. 2
68634079547. 3
68634079548. 4

Question Number : 88 Question Id : 68634020137 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pigment chip recerved in a Forensic Science laboratory consists of.

A, Pigment

B. The Vehicle element, extenders and solvent
C. Picric Acid

D. Glass microballoons

Choose the correct answer from the options given below:

1. A and B only

[ ]

. B and C only

[

. C and D only

4.D and A only

Options :

68634079549. 1
68634079550. 2
68634079551. 3
68634079552. 4

Question Number : 88 Question Id : 68634020137 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tfie g wa=men 8 uid auie fou a4 gl |
A quq ,
B. 3R [d9dR® 3R fgama®
c. fafss@ sra
D. DI Y&

== fau Y fadenl # 9 "l ST &1 =997 DI
1. Fad A R B
2. PaAB AR C
3.%4dd C R D
4. PaAD AR A

Options :




68634079549. 1
68634079550. 2
68634079551. 3
68634079552. 4

Question Number : 89 Question Id : 68634020138 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Representative markers of RNA based assays for body fluid identification are

A.HTN3. MUC7 and STATH for Saliva.

B. MULH. HBDI and DKEK4 for Semen.

C. HBB. SPTB and CD?%3 for Blood.

D. KLK3. TGM4 and PRMI for Vaginal Sceretions

Choose the correct answer from the options given below:
1. A and B only

2. A and C only

I

3. Aand D only

4.B and D only

Options :

68634079553. 1
68634079554. 2
68634079555. 3
68634079556. 4

Question Number : 89 Question Id : 68634020138 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UgdH RNA & UfaHERI Y@@l & syR W TRR 500 g & SHHUH o

A. @R & {370 HTN3, MUC7 3iR SATH.

B. 41 & folU MULH, HBDI 3iR DKK4.

C. ¥9d & fofT BB, SPTB 3fR CD93.

D. Tif5 Tl & U KLK3. TGM4 3R PRMIL

+te f4u e faeedl # 9 | ST &1 997 DI
1. $dd A 3R B
2. bad AR C
3. $ad A 3R D
4. %9d B 3R D




Options :

68634079553. 1
68634079554. 2
68634079555. 3
68634079556. 4

Question Number : 90 Question Id : 68634020139 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s considered to be an acceptable crime scene search pattern.

A. Spiral Search

B. Straight line Search
C. Quadrant Search
D. Triangular Search

Choose the correct answer from the options given below:

1. A and B only

[ ]

. B and C only

[

. C and D only

4. A and C only

Options :

68634079557. 1
68634079558. 2
68634079559. 3
68634079560. 4

Question Number : 90 Question Id : 68634020139 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fraforafa o O 50 Wier Uy —e @d ggdl 9§l 6

A. TSR Sl
B. Hitl 3@ i

c. agufrsa
D. FAFIuES ™

- U T fowedl # ¥ Iel SR &1 994 S
1. Fad A IR B
2. PadaB IR C
3.%4dd C 3R D
4. FAAAHARC

Options :

68634079557. 1
68634079558. 2
68634079559. 3
68634079560. 4

Question Number : 91 Question Id : 68634020140 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following 1s an hybrid instrumental technique

A UV-Visible Spectrophotometer

B. Gas Chromatography

C. High performance liquid Chromatography
D. Scanning Electron microscope

E. Solid phase micro extraction

Choose the correct answer from the options given below:

1. A and C only

[ ]

. B and E only
3. C and D only

4. B and C only

Options :

68634079561. 1
68634079562. 2
68634079563. 3
68634079564. 4



Question Number : 91 Question Id : 68634020140 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafiiad 3 3 S eslis scHed

A, RETHI-220 WrIhleH R
B. 719 quifdse

C. ¥ YexiH ad quifasH
D. Th{-T geidei YeAaslt

E. 319 Hdg Y&H Fspyu

== fau Y fadenl # 9 "l ST &1 =997 DI
1. Fad A 3R C

. Pad B ARE

.%ad C SR D

4. %ad B3R C

Options :

68634079561. 1
68634079562. 2
68634079563. 3
68634079564. 4

| ]

[F]

Question Number : 92 Question Id : 68634020141 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following city 1in India do not have commissionarate system of policing

A. Hyderabad

B. Bhopal

C. Korba (Chhattisgarh)
D. Jamshedpur

E. Kanpur

Choose the correct answer from the options given below:

1. B and E only

| ]

. Cand D only
3. B and C only

4. B and D only

Options :
68634079565. 1
68634079566. 2



68634079567. 3
68634079568. 4

Question Number : 92 Question Id : 68634020141 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFafeRad o 9 fog yRd wex & St o 781 82

A. BIETE
B. HIOTd

C. DRET (BUETS)
D. SHRIYRR

E. BHR
i fau 77t fas eyl 1 I Hel 3R & 98- I

1. 99 B 3R E
. Had C SR D
.$adB AR C
4. $9d B 3R D

Options :

68634079565. 1
68634079566. 2
68634079567. 3
68634079568. 4

| )

L

Question Number : 93 Question Id : 68634020142 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a simple microscope, eyepiece is a combination of

A. Concave lens
B. Convex lens
C. Diverging lens
D. Converging lens
Choose the most appropriate answer from the options given below:

1. A and B only

2. B and C only

I

T

. A and C only

4. B and D only

Options :



68634079569. 1
68634079570. 2
68634079571. 3
68634079572. 4

Question Number : 93 Question Id : 68634020142 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TTYROT Yera H, 31 are YT fHued g 6

A. 3ddd |9
B. 3dd ol
C. U9R &
D. HITRRI &g

=i feu T fadedl # 9 el SR & 98- DI
1. $ad A 3R B
2. PadB AR C
3. PAdAIRC
4. $9d B 3R D

Options :

68634079569. 1
68634079570. 2
68634079571. 3
68634079572. 4

Question Number : 94 Question Id : 68634020143 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT

LISTI LISTII
A |Distillation [. |Separation two mimmiscible liquid
B. |[Solvent extraction | I |Separation of alcohols
C. |Sublimation II1. |Separation of parts of blood
D. |Centrifugation IV. [Camphor

Choose the correct answer from the options given below:

1. A-I, B-II. C-IV, D-III

| ]

CACIL B-IL C-IOIL D-IV

CA-IV, B-IILL C-IL, DAII

L]

4. A-I1. B-1. C-IV, D-III

Options :

68634079573. 1
68634079574. 2
68634079575. 3
68634079576. 4

Question Number : 94 Question Id : 68634020143 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 61 1 11 9 faer Sifon
T 1 T 11
A lamgas I [&1 HHY TRl & How BT
B. [Fams Fshuor | 1L [Tchied &l 3@ ol
C. [38urad 111 R&d & YTT &1 3 Bl
D. [QUh<=ig V. [g R
fFafeRad faeedi O 9 9t IR &1 90+ Sifal -

1. A-I. B-II. C-IV, D-III

| ]

CA-IL B-1L C-IIIL D-IV

CA-IV, B-IOLL C-I, D-II

L ¥]

4. A-IL. B-I. C-IV. D-III

Options :

68634079573. 1
68634079574. 2
68634079575. 3
68634079576. 4



Question Number : 95 Question Id : 68634020144 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A [DNA I. |[Osborn
B. Documents II. Hatcher
C. [Ballastics ITI. [Landsteiner
D. |Blood IV Jefferys

Choose the correct answer from the options given below:

1. A-IV, B-I. C-IL. D-III

{ )

A-IIL B-II. C-IV. D-I
3. A-L. B-IV. C-II, D-ITI

4. A-I1. B-IIL. C-1. D-IV

Options :

68634079577. 1
68634079578. 2
68634079579. 3
68634079580. 4

Question Number : 95 Question Id : 68634020144 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 161 gl 11 9 f&er Sifen

T 1 it 11
A [Eiuau L =i
B. [a&rad II [N
C. [y 1L [s& R
D. kg V. [Sithl
frrafeiad faseat & 9 wet 3R &1 99 Sife -

1. A-IV. B-I, C-II, D-III

[ )

. A-IIL B-II. C-IV., D-1

CA-L B-IV, C-I1, D-III

faa

4. A-IL. B-IIL. C-1. D-IV

Options :

68634079577. 1
68634079578. 2
68634079579. 3



68634079580. 4

Question Number : 96 Question Id : 68634020145 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Preserve L Pl\ = PL, = F';l
B. |Pascal's law 1I. V\/rzg.r".'
C. |Torricelli's Law IIL | F = 6myrv
D. [Viscosity IV. |P= Ly
A

Choose the correct answer from the options given below:
1. A-IV. B-I. C-II, D-III
2. A-IIL B-IL C-1. D-IV
3. A-L, B-II. C-III. D-IV

4. A-I1. B-1. C-VI. D-III

Options :

68634079581. 1
68634079582. 2
68634079583. 3
68634079584. 4

Question Number : 96 Question Id : 68634020145 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 161 2l 11 9 fier Sifoe

T I gl 11
A e I [P,=P,=P,
B. [qThd 1 F1aH IL | V[2gh
C. [eifedhel @1 =gH 1L | F = 6msrv
D. [EOT v [p==

A

fafafad faeedl O 4 98t Sox &1 9 Sifel -

1. A-IV, B-1. C-II, D-III

| ]

CA-ITTL B-IIL C-1L D-IV

[ ¥]

CA-L B-IIL, C-ITLL. D-IV

4. A-II. B-1. C-VI. D-IIT



Options :

68634079581. 1
68634079582. 2
68634079583. 3
68634079584. 4

Question Number : 97 Question Id : 68634020146 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Scientist Work
A Henry P de I Record his own fingerprint to prevent
" [Forest 1902 " |forgery in commuissary orders.
B 7. C. A Maver I First large scale documentation of
" |1988 " [Fingerprint in USA
C Alphonse 1 Skin ridges are never duplicated in two
" [Bertillon 1882 " hndividuals
KGilfaest . A Clerk in Paris Police identification
D. |[Thompson V.
1882 Bureau devised anthropometry

Choose the correct answer from the options given below:
1. A-I1. B-TI1. C-IV. D-I
2. AL B-III. C-I1. D-IV
3. AL B-1 C-1I1. D-IV

4. A-IV. B-II. C-III. D-I

Options :

68634079585. 1
68634079586. 2
68634079587. 3
68634079588. 4

Question Number : 97 Question Id : 68634020146 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ty

1191 9=l 11 1 e ifey

A 1 T 11
o R | [ et | el Ao &
PR 1902 | [ o s Rels
oL T N A
B. ez 10n 1. [gUU & Ugel 95 UHH IR a&Eas
. |premi &l fddl § @ B feHiadiad Jel
C g |™ Rare
FTcae . [OR" gfer ugaH oR1 & U daids -
P b 1550 |1 UYUITHICT SolTG 31|
fFafiiRad fasedl § ¥ Hgl S &l 999 S

1. A-IL. B-III. C-IV, D-I
2. A1 B-III, C-II. D-IV
3. A-IL B-I, C-III. D-IV

4. A-IV, B-II, C-IT1, D-I

Options :

68634079585. 1
68634079586. 2
68634079587. 3
68634079588. 4

Question Number : 98 Question Id : 68634020147 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LIST IT
A |Calotropis gigantea I. |Castor Oil plant
B. Semecarpus anacardium II. PMibhazahar plant
C. Ricinus comminiis II1. PMadar plant
D |dconitum napellus IV Marking nut plant

Choose the correct answer from the options given below:
1. A-IT. B-IIL, C-IV, D-I
2. AL B-IV, C-I, D-T1
3. ATV, B-II, C-I1, D-I

4. A-IIL B-1L. C-1. D-IV

Options :
68634079589. 1
68634079590. 2



68634079591. 3
68634079592. 4

Question Number : 98 Question Id : 68634020147 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 161 a1 11 9 fier Sifse
Sl gt 11
A [hareiuy frien I |3Rugi dd ey
B. [HHGRUY UHIBI159H 1. [[ATee urey
C. [RFg mea IIL [AeR U1eY
D. [THIHcH AUay IV. [gid- Hal ueyd

FgfeiRad f[deedl H§ U 9ol 3o &1 994 Sl :

1. A-IL. B-IIIL. C-IV. D-I

)

. A-IIL B-IV, C-I. D-I1

A-IV, B-II1, C-II, D-I

L% )

4. A-IIL. B-IL. C-1. D-IV

Options :

68634079589. 1
68634079590. 2
68634079591. 3
68634079592. 4

Question Number : 99 Question Id : 68634020148 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
A |1%* Law of Motion I P=mv
B. 224 Law of Motion I P=Ft
C. [lmpulse III. IF =ma
D. [Friction IV. [F=puN

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

[ )

. A-IL. B-1. C-III. D-IV

3. AL B-1L C-IV, D-T1

4. A-ITL. B-1. C-II. D-IV



Options :

68634079593. 1
68634079594. 2
68634079595. 3
68634079596. 4

Question Number : 99 Question Id : 68634020148 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty o

Tl 1 1 gl 1 ¥ fae s

LISTI LISTII
A [T &1 0Yg T8 I P=mv
B. g @1 gdg Fa9 I [P=Ft
C. 19T III. |F =ma
D. [guur IV. [F=puN
fFaffad [deedl & U U8l SoR &1 994 Sifeil

1. A-I. B-II. C-III. D-IV

| ]

CA-IL B-IL CHIILL D-IV

CA-ITL B-1L C-IV, D-II

L5 ]

4. A-IIL. B-1. C-I1. D-IV

Options :

68634079593. 1
68634079594. 2
68634079595. 3
68634079596. 4

Question Number : 100 Question Id : 68634020149 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT

LISTI LISTII
A |Heroine I. |Fungi
B. [Lvsergide II. |Catha edulis
C. |Abrin IT1. |Semi svnthetic
D. [Khat IV. |Plant Protein

Choose the correct answer from the options given below:

1. A-IV. B-IIIL. C-I. D-II

| ]

CA-ITL B-IV. C-I1, D-1

CA-IV, B-1L C-II1, D-II

L]

4. A-IIL B-1. C-IV, D-II

Options :

68634079597. 1
68634079598. 2
68634079599. 3
68634079600. 4

Question Number : 100 Question Id : 68634020149 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 11 P! 11 ¥ THa i

A 1 T 11
A [BRIEA I [Pad
B. [AOETEes 1L [BurFgie™
C. |Hafa 111 |37 Gxaiftg
D. fkas IV. [gTey UidiH
frafafad fddel 5 ¥ Hel SO) &1 90 ST -

L. A-IV, B-III. C-I. D-II

| ]

CA-IIL B-IV, C-I1, D-I

CA-IV, B-IL CA-III, D-I1

L ¥]

4. A-IIL. B-I. C-IV. D-II

Options :

68634079597. 1
68634079598. 2
68634079599. 3
68634079600. 4



